UP Police Previous Year Paper
Comp. Operator 21 Dec, 2018 Shift 1




Setld : 51357_10

Computer Operator_21-12-2018_Batch01

Section 1 - Subject01-General Knowledge

1) Which Payments Bank is the first to start service in
India?

A) Paytm Payments Bank

B) India Post Payments Bank
C) Airtel Payments Bank

D) ICICI Bank

1) wTea # T e S TEeT 91 AT AaT §F e
A) TEUH T dF

B) 9T U e 9%

C) UATSH HE I

D) ICICI &%

2) Read the following statements and choose the
CORRECT after Indian Railway Budget - General Budget
merger.

1) The huge revenue deficit of Railways was transferred

from Railways to the Union Ministry of Finance.

2) Railways continued to operate as a commercial
undertaking under a government department and retained

functional autonomy.

3) Railways continued to pay the Finance Ministry dividend
on Capital at Charge of Railways

4) Railways continued to raise resources from the market
through the process of Extra Budgetary Resources for

project finance

A) 1) True, 2) False, 3) True, 4) True
B) 1) True, 2) True, 3) False, 4) True
C) 1) False, 2) False, 3) False, 4) True
D) 1) False, 2) False, 3) True, 4) True

2) AIEEIT ¥ q9IE - AW Foie [9ad % 978, MHiad ®99 98
31T HET fsheq 11 F7

1) TS % AT Ted HTE F 29 H $xd (& JATad 0
FEATGILT FE (4T 74T 4TI

2) 399 7 UH AT AR F Saeia U AToieTs STEH e
T T AT ST a7 S FA TS STAaT T 9470 Tl
3) TA9 7 &= AT 0 A A O GolT AT FAT ST
Tl

4) o7 7 afEeET e % oo afafes s dememt i
T 3 TR I & FHTEET 6 Sa! AT ST Tl

A) 1) T, 2) Tera, 3) W, 4) WA
B) 1) #2t, 2) #, 3) Tiq, 4) WL
C) 1) =a, 2) =4, 3) Td, 4) Tar
D) 1) =4, 2) e, 3) 7T, 4) g8l
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3) Which of the following oceans surround Baffin Island?

A) Pacific

B) Indian

C) North Aflantic
D) Arctic

3) AT 1T & =0 A Mt § F 9 91 98 82

A) T

B) &=

C) ST AT e
D) FTHfF

4) Paithani sarees originated in which Indian state?

A) Jammu and Kashmir
B) Kerala

C) Assam

D) Maharashtra

4) Guft |rfEat it geafr B wdT T § g2 i

A) TP S T
B) FL
C) a9

D) "R

5) Under Section 66D of the Information Technology Act
2000, what is the penalty for "Cheating by impersonation
using computer resource" (that is, cheating by pretending
to be some other person or by substituting one person for
another) offence?

A) Imprisonment up to three years or/and fine up to
¥ 300,000

B) Imprisonment up to threeyears or/and with fine up to
% 500,000

C) Imprisonment up to one year orfand fine up to
100,000

D) Imprisonment up to three years or/and fine up to
% 100,000

5) F=AD Y= ATerwas 2000 FT 91T 66D F 3iaa,
AT FTE AT ATH TAEHL TAL SATHAT T GTET ZAT) 0T T
ETETIET X & A9 & U FATES g ?

A) i |Ter 7 g 71/ T 300,000 TF T SHET
B) =T |t T T AT/ AT 2 T 500,000 TF T AT
C) w |1t T % /0% T 100,000 T HT THET
D) = =rer & F7 /3% T 100,000 T T JHHT
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6) Which of the following bodies of United Nations 6) TTH | " g & e afafe 7 1948 ¥ afas wearteal

proclaimed the Universal Declaration of Human Rights in T =raomm it ?

19487
A) ST FEfaa

A) Trusteeship Council B) ST AT

B) General Assembly C) EETAIAA HIE A Aeeq

C) International Court of Justice D) TR Tius

D) Security Council
7) What is the latest trend that organizations are adapting?  7) 535+ 1 gILT &7H A HaH Ao &l ATAET AT 7515 ?

A) Block all social media sites A T HITET HITSHT T Sel1e = FTAT 47 I 9 Tia=er

B) Engage employees for a bigger social media reach B) FHATCAT T & FT0TL A AT A q"g_“’ ﬂ%ﬂTﬁR‘lﬂTl
C) Allow twitter but disallow Facebook C) T AT SGAfT i FAgF W+

D) Avoiding social media as it lowers employee D) Hierd HI{SaT 97 1% F1 1% S FHATAT il SeTTahdal

productivity F A0 2l

8) What is the goal of MAKANI project of Google X - an 8) T X - IFT FIT AT U 97rel Ue faand %, F

R&D facility founded by Google? MAKAN 1S9 T 5T T 57

A) To create kites that hamess wind energy to generate A) E'HTWEFT WW‘G‘T AT ST T IEAN H2H FAT
electricity efficiently from wind i m ﬁa?fﬁﬁa'[w " »

B) °F A AT Sfadl 3 Tiad ST a6 § Iegal ab
TEH T BT, AT 7 ATAETT TP Tl FH HAT AT
CO2 % IA= H HEE F4AT

B) An autonomous delivery drone service aiming to
increase access to goods, reduce traffic congestion in

cities, and help ease the CO2emissions - - .
P ? C) HeF-ZTEET HIT & AT TTaefiear ®1 Saraid FeAm

D) FETERICE A o HES | 3241 FA e 9l T a1
D) Expanding coverage of Internet connectivity with EEL

stratospheric balloons

C) Transforming mobility with self-driving cars
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9) Who among the following US Presidents have received

the Indira Gandhi Peace Prize since its inception?

A) Barack Obama
B) George W. Bush
C) Bill Clinton

D) Jimmy Carter

Q) SR T oTifq [T & WKW & 999 F 3d a, Muferad
T 7 9 AL gl 7 I8 ER W T 57

A) T =TT

B) i<t =eeL. 4T
C) fa< faeie
D) TSt #1eT

10) What is VPS feature that helps navigate indoor

locations in Google maps?

A) Virtual Point of Sale
B) Visual Positioning Service
C) Virtual Positioning Service

D) Vision Positioning Service

10) VPS b= 77 2 RS 019 87 ¥ TSR A9 7139
Fi ¥ Hag THedr 872

A) THIA LT 3 AT
B) Frsgere TSt AEw
C) AL TSI A=
D) Tt rfsranfsiar i

11) In 2016 Rio Olympics which country was the third
highest in the medal tally?

A) United States of America
B) China

C) United Kingdom

D) Russia

11).2016 =T ST 7 17 A7 397 T4 qIeHl § a9 2=
Y AT?

A) FRE ST ST

B) I

C) Tmees fHew

D) &

12) Which of the following states of India share their

borders with Bangladesh?

A) Sikkim, Manipur, Tripura, Meghalaya and West Bengal

B) Assam, Mizoram, Tripura, Nagaland and Manipur

C) Assam, Mizoram, Tripura, Meghalaya and West
Bengal

D) Assam, Sikkim, Bihar, Manipur and West Bengal

12) FaforiEa O & TR & 9 9 U TAT68T 3 J3T9 J94T

A) TaEm, AT, T, e ST i S
B) sr&, fetrem, By, Amnsie s\t

C) w=w, Tosirm, e, Trame i afgm Smer
D) =, Ffam, g, At o aiEn s
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13) A digital wallet has two major components, a software
application and information storage. Which of the following
aption is not a responsibility of Software application?

A) Storing data in database
B) Providing security
C) Encrypting the transaction details

D) Providing interface for user to use digital wallet

13) FEforee afde F a7 W 92F gid 8, A9 ad< U e 3T
TR B=I | 9 # T & 47 e aiveaas it it
A) SEEE F ST A=

B) TLEATHGTT ST

C) TSI 3 TEaror 3T Hefver T AT Wit FT
D) STARTAT T feforee ez  a<the 2 T

14) Which of the following statement is INCORRECT for
Urbanization?

A) Urbanization is closely linked to modemization,
industrialization, and the sociological process of
rationalization

B) Urbanization is characterized by common bloodlines,
infimate relationships, and communal behaviour

C) Urbanization can describe the increase in overall
population with time

D) Urbanization is a rapid and historic transformation of

human social roots on a global scale

14) SIEOHIOT % F17 § FHfeiEd § F F:9 97 F99 799 g2

A) T S L, ST 0T, SfiT TaheTadr $it
TS TTRaT & 993 Hee 2

B) orgiaur ATHRT ¥=F H4e, g Ha, i AiaaTiis
AR 3 == graT 2

C) SI@<Isa0T, 9T F T T AT ¥ gl il AT=AT HT

D)mmmwwwﬁmaﬁmeﬁaaﬁt

15) What is the type of taxation (DIRECT/INDIRECT) under
GST (Goods and Service'tax)? What are the common rates
of GST, if GST is applicable?

A) Direct Tax, (5%, 12%, 18%, 25%)
B) Direct Tax, (5%, 12%, 18%, 28%)
C) indirect Tax, (5%, 12%, 18%, 25%)
D) Indirect Tax, (5%, 12%, 18%, 28%)

15) GST (I UA HaT F¥) F Aq0q (6 WAL FT FLETH
(Terer/avere) g7 A% GST AR g1 a1 GST T ATHT=T 3 :iF-
HTATE ?

A) I 73T &, ( 5%, 12%, 18%, 25%)

B) TTE &, ( 5%, 12%, 18%, 28%)

C) 19<"eT T, ( 5%, 12%, 18%, 25%)

D) 319<met 7, { 5%, 12%, 18%, 28%)
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16) Which of the following crops is the main cash crop of
Uttar Pradesh?

A) Grapes
B) Cotton
C) Sugarcane

D) Soya bean

16) UL Fao ¥ YT T4 HAA HHTEd § F T HT 572

A) FTT
B) I
C) =T

D) | =i

17) Diana Edulji was associated with which game and

represented which country.

A) Cricket, England
B) Hockey, England
C) Cricket, India

D) Cricket, Australia

17) =TT UgestT B e | He i o ofiw R g
A) Tz, S7iT

B) =iy, Ewis

C) fee, I

D) e, sreefemar

18) Which of the following is TRUE about Indian

Constitution?

A) ltis the only constitution to enshrine parliamentary

elections
B) It is the oldest constitution in the world
C) ltis the longest of all constitutions of sovereign nations

D) It is the first constitution which.incorporated
fundamental rights

18) WA T wiere & 1< § FAfei g § & 09 9T 981 87

A) 75 ST ST TR R A S
B) T% AT 1 HaH AT SE §

C) T& |V gl AT’ § Ha g

D) ¥F e ST § R wifR s oo

19) The United Nations' (UN) International Literacy Day

takes place annually on

19) 5w g (UN) & FT081T arear faaw g2 9= &9
AT &l AT STA1 27

A) 14t November A) 14 TEaT

B) 16" September B) 16 fH@eax

C) 8t September C) 8 Fraax

D) 15t May D) 1%
Page6ofs8
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20) How are Ragini, Dhola and Swang related to the
culture of Uttar Pradesh?

A) Traditional Dresses

B) Languages of Bundelkhand region
C) Folk Dramas

D) Local festival of eastern Uttar Pradesh

20) IA TS T A T AL, ST AL S0 6T I 7
i 52

A) T T

B) J&wrEE & & wraTg

C) ¥ ATeH

D) THT STIY W&l % TG AZR

21) At which of the following places is the biggest cattle fair 21) =7 & e =9 9% Iidad 949 A1 # FTaH TUHT &

of Uttar Pradesh organized annually in November during
Kartik Poomima?

A) Dadri

B) Barabanki
C) Mathura
D) Bateshwar

FICH ST IR0 FT Ha9 agT A9 AT i g7 Arar g7
A) FTEET

B) AT

C) T

D)a%ﬂa'a:

22) What is Virus in a computer?

A) Opponent written opcode to run the system or copy
data to his system

B) A piece of code which performs unwanted operation
resulting in corrupting the system or destroying data

C) A small digital device which performs unwanted
operation resulting in corrupting the system or

destroying data

D) A bot to delete the data and network device

22) ToHHT Foge< W 9193 FT gl 27

A) ufagsr g By F7 =< ar a7 frew § a7 +idt
T & o0 AqHiE foram SET

B) FIE T T AT AT ST AT AT FLaT 2 ST
TV (o H A iead g1 JAMaT ¢ 3T ST A2 2 ATd &

C) T FIeT 97 [SToea SUHeer € A7 Jaiiad ST FLal &

i

Ll

D)wwwaﬁéﬁw&aaﬁtﬁﬁ%ﬁmﬁ?ﬁiﬁ

Q
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23) Equity cap for Foreign Direct Investment {in %) in

Indian entities publishing newspapers is

A) 40
B) 74
C) 49
D) 26

23) AT I WaTTd F ATel TIdT ST 8§ T
el Feer (% #) F o efEFd &7 Faar a2

A) 40
B) 74
C) 49
D) 26

24) Who is the inventor of integrated circuit chip?

24) T ¥ fogid fedes afae =g 1 sntaea e

A) Charles Babbage A) T T
B) Robert Nayak B) T TF
C) C. V. Raman c) At &t T
D) Jack Kilby D) 5% Tl

25) Which of the following was NOT the objective behind \  25) f=rferfara & & %1 671 8 7997 2016 F1 g0 R #r

demonetization of 8th November 20167 TEOT TAH I FAT AR AT?
A) To prevent naxal activities and terrorist activities A) TR Attt she sy afafafeat T
B) To remove old notes B) T FIEH &1 g
C) To increase digital transaction c) feferee gistwor =1 a@ran 37
D) To unearth black money D) Tl & FT TaT ST
26) What is the capital of the state of Tripura? 26) FErqar T i TS wT A TR ?
A) Imphal A) T
B) Agartala B) STTed=t
C) Shilleng c) fererir
D) Aizawl DEERIE]
PageBofs8
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27) Which of the following is the initiative by Uttar Pradesh ~ 27) HiereT Hi{2aT SoRUaH & HIETH § AHATRT AL Tahet | G

Police to counter rumours and fake news through social KT ATHAT F F Fore ST seer e g1 Refeied 7 a5
media influencers? #t aget i TE 52

A) Samvad Police A) HATE e

B) Digi UP B) festr it

C) Digital Mitra c) fefves

D) Khaki Mitra D) AT T

28) As per Indian Constitution who is permitted to take part 28) WTEd 1 HTeeT F AT HHE Dl FILATS H ART o @l

in the Proceedings of Parliament? sqAta 9 g 27

A) Cabinet Secretary INEIESCRIEE]

B) Attorney-General B) @eiHT-aa%

C) Solicitor General C) FIT 8 Se¥et

D) Chief Justice D) TEH =TT
29) Which of the following was an anti-insurgengy. 29) 1988 ® TTT <ficiaT F SreuT=T &5 ¥ e« 2T Sih

operation carried out by the Indian Peace Keeping Force  @f#a s&# (LTTE) & F=g =g 1= Fifdw we (IPKF) 317
(IPKF) against the Liberation Tigers of Tamil Eelam (LTTE) Rwfiee & & %1 a1 fagg Fore s s=man a1 ar?
in the Vadamarachi area of northem Sri Lanka in 19887

A) ST 94 g

A) Operation Surya Hope HEREEE T
B) Operation Black Tornado C) ST AT
C) Operation Checkmate D) ST & femer
D) Operation Sarp Vinash

PageQof58
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30) The National Security Guard (NSG) is a contingency
force specially equipped fo deal with anti-terrorist activities
and to protect states against intemal disturbances. After

which major military operation did the Indian parliament
establish the NSG?

A) Operation Blue Star
B) Operation Python
C) Operation Parakram
D) Operation Cactus

30) TET JXAT TE (NSG) UF A0 9 3 9 [F99 78
sawaTe AL afafEfEET 7 fueT ofw aals =adt F Geg
Tt ¥ 7T & o S 31 aehT w9 T NSG e e
TZ =7 AT & e A of1?

A) ST = =X
S ERICRE]
C) ST T

D) ST e

31) Which of the following books is written by Rabindranath
Tagore?

31) Feferfae & & Fid 1 05 o T ST 5T o T

A) A passage to India A) & T E e

B) Saraswati:- A tribute to Wisdom of India B) AT T fe=gz 7 fawew sitw Efem

C) Geetanjali C) 3fratstier

D) Freedom at Midnight D) e Uz HEEe
32) With which of the following countries did India declare  32) QTersa TR % w161 F4h 1966 | 9Ea ¥ Foferiad

truce in 1966 by signing the Tashkent Agreement?

T ¥ e <or 3 AT ggfam |ier it o £ o772

A) USSR A) T.THTH.AT

B) Iran B) E3tE

C) Pakistan C) W

D) Afghanistan D) AT
Page100f58
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33) In Indian banking, what are the full forms of CTS and ~ 33) seeii® &1 &, CTS 3fik ECCS &1 X1 &9 #7187
ECCS?

A) = e e, trnm 3 fegfin feg
B) = gaeTia foeew, goreeifmeeil = Reafir ey
C) = giwer fored, geraei el =@ Faa i fed
D) 3 Zivreer s, v 39 et ey

A) Cheque Truncation System, Express Cheque Clearing
System

B) Cheque Truncation System, Electronically Cheque
Clearing System

C) Cheque Transaction System, Electronically Cheque
Clearing System

D) Cheque Transaction System, Express Cheque
Clearing System

34) What are the capital cities of Maldives, Mauritius, 34) THH AT, HILIHE, TG, 719t T Hi $1 3 ?
Morocco, Norway?

A) T, TATETAST, FLLATST, A=A

A) Abuja, Guadalajara, Curepipe, Oslo B)HTst, 9iE e, ¥ad, Aredr

B) Male, Port Louis, Rabat, Oslo C). 37T, TS, T4, AT

C) Abuja, Curepipe, Rabat, Oslo

D) FSTT, FLLATET, [RATSTALST, AT
D) Abuja, Curepipe, Guadalajara, Oslo
35) Qutubuddin Aibak was the slave of 35) TqaE A Uah (o6 HT [T 917
A) Razia Sultan A) oA gear
B) Iitutmish B) Toqarier
C) Muhammad Ghori C) WreHw ut
D) Mahmud Ghazni D) HEHE T

Page110f58
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36) Given below is a set of states. Arrange them in the 36) = o U T T U A g1 2011 FT AT ST
descending order according to the 2011 population census. & ATH S5 ARl 77 H =14 LR

A) TEIE, 3T I= T, TR 37, &g 3l airer waer
A) Maharashtra, Uttar Pradesh, West Bengal, Bihar and ) TR “

Andhra Pradesh B) 39T 9=9T, TSI, o1, ATES 3L 78 9ol

B) Uttar Pradesh, Rajasthan, Telangana, Jharkhand and C) HEIRIZ, ITL F&, ST, TTEAT AT T e
Madhya Pradesh D) ST V=T, FAIEH, TTHAATE, el AT [orrd
C) Maharashtra, Uttar Pradesh, Gujarat, Rajasthan and
Karnataka
D) Uttar Pradesh, Karnataka, Tamil Nadu, Kerala and
Gujarat

37) Match Book names in Column A with Author's names in  37) e A ¥ T&aw & AT9 9 HH B % @ & T10 9 (5T

Column B aa
Column A (Book Name) | Column B (Author) " =
- — HIAH A (TOF &TATT ) | Hiaq B (A9F)
a) Anna Karenina i} William Shakespeare == =
- a) FAT T AT )] By Ixafeax
b) The Apple Cart i) Leo Tolstoy ~ = N ——
c) As you Like It i) George Bernard Shaw QL= T T 1) thilhbbih
T T ATER I DEIEERIES
d) Ben Hur iv) Lew Wallace 2 ?‘Tq bl LD - wll
d) 99 &< iv) ¥ FTe T

A) (a) - (i), (b) - (ii), (c) - (iii), (d) - (iv)
B) (a) - (iii), (b) - (ii), (c) - (i), {d) - (iv)
C) (a) - (i), (b) - (i), (c) - (i), (d) - (iv)
D) (a) - (ii), (b) - iii), (c) - (iv),{(d) - (i)

A) (a) - (i), (b) - (ii), (c) - (iii), (d) - (iv)
B) (a) - (iii), (b) - (ii), (c) - (i), (d) - (v)
C) (a) - (ii), (b} - iii), {c) - (i), (d) - (iv)
D) (a) - (ii), (b) - (iii), (c) - (iv}, (d) - (i)

38) For sharing of Indus waters, Indus Waters Treaty was  38) f&e] 571 & #rerrehewr & forw, fie] St woeiar foem gon &7

signed between the governments of LB & 419 g A7
A) India and Nepal A) ST 3 e
B) India and Pakistan B) WTEd 3% qTiseaT™
C) India and Afghanistan C) AT S AT
D) India and Bangladesh D) 9T 3% TR
Page120f58
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39) Which of the following is the force guarding the borders 39) g H=TIT & Tgd WA 4T HHTSN T TEAT HLA 1T I

of India under the Ministry of Home Affairs?

A) Central Reserve Police Force
B) Sashastra Seema Bal
C) Intelligence Bureau

D) National Security Guard

FoEa T T RE ars?
FNERRSER (REEE]
B) el HiHT =<

C) Zefers =12

D) TEIF AT IS

40) What was the theme of Indian Seed Congress 2017,
held in Kolkata?

A) Need the Seed

B) Seed of Joy

C) Seed for better future
D) Seed to Progress

Page130f58

40) FTAFHTAT H TG TRATT =t FHe 2017 Fir Fog-aeg
=T 1?7

A) TR

S EIEEEEIE

C) HIZ HIT S F=
D) e Z TE
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Section 2 - Subject02-Mental Ability

41) A word with letlers jumbled have been given. Choose
the correct order of letters which are required to form the
correct word.

Jumbled word: RTSOW

41) werafeaa A&l aTaT U 91e3 fadn 197 81 T & U 98t
T T AT L [9vg STSHT Tal 9155 FHTAT ST 6

=T =5 RTSOW

A)3,1,2,5,4
A)3,1,2,5,4 B) 5,4,1,3,2
B)5,4,1,3,2 C)1,3,2,5,4
C)1,3,2,5,4 D)4,5,1,3,2
D)4,5,1,3,2
4?2) The missing term in the sequence 16,45, ____ , 915, 42) #7 16,45, , 915, 5496, 38465 & ?ﬁ'flﬁﬂ?rwg
5496, 38465 is

A)184

A) 184 B).216
B) 216 C) 96
C) %6 D) 90
D) 90

43) Four options are given below. One of the four options
can't be formed by using the/letters of the word
EXPERIMENTAL. Find that one word.

A) METER

B) PRIME

C) MENTAL

D) PERIMETER

43) 5= 9 e fGw o 8 9w § ¥ G us e @

wir, ersg EXPERIMENTAL % 31eT<1 5 921 S+1dT 9T 9ahdTl
g TF 9153 ST F2

A) METER

B) PRIME

C) MENTAL

D) PERIMETER

Page140f58
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44) If the price of an article increases by 49% and the sale
of that article decreases by 21%, then what is the
approximate effect on collection?

A) 21% decrease
B) 15% decrease
C) 18% increase

D) 28% increase

44) 77E W =TE T FHT 49% F5 ST g 3T 7 TH B =T
21% e STTAT g, TT ZI9r Taet T 9% ST TH1E FT 507

A) 21% +7
B) 15% =9
C) 18% 3z
D) 28% Ffx

45) A, B, C,D,E, F, G,H and | are nine houses. C is 2 km
east of B. Ais 1 km north of B and H is 2 km south of A. G
is 1 km west of H while D is 3 km east of G and F is 2 km
north of G. lis situated just in middle of B and C while E is
justin middle of H and D.

45)A,B,C,D,E, F,G H 1919 1 C,BF 2 km @ & 2
ABF1kmIar T Z0H, AF 2 km T H81 G, HF 1
km TREE H E SawD, GH3kmTEH EHEF, GH2km

ST H 2, BATCHR A & fua g s+ E, H e D F 3
T T 2l

_ . . AT G T ofr=r 1 T et et 27
What is the approximate distance between Aand G ?
A) 2.4 km
A) 2.4 km
B) 2 km
B) 2 km
C)2.24 km
C)2.24 km
D) 1 km
D) 1 km
Page150f58
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46) A statement followed by two assumptions are given
below. Select the assumption(s) from the options which is
implicit in the statement.

Select :

(A) If only assumption (i) is implicit

(B) If only assumption (i) is implicit

(C) If both (i) and (i) are implicit

(D) If neither (i) nor (ii) is implicit

Statement: We should work hard to be successful in our life

Assumptions:
i) Being successful in our life is desirable
ii) We will be happy if we work hard

A) B
B) A
C)C
D) D

46) = 3T 70 T & 915 &7 910G &1 15 gl &8 a1y et
T T I IO HT F4 HL AT 49 ° A (3d gl

e

(A) 3T Fa &1L (i) AaHfad g

(B) 3T Fae €0 (i) daHEa &

(C) =& FT (i) 3 (ii) siaffaT §

(D) = 74T (i) AT A 2 (i) sigHga g

FU: gH AT a9 H TR g & (10 Hgl HgAd HeAT Agul

ZIERIT L

i) U SET | O 2ET S gl

i) A% B FET HZAT Fd & TUEH T B0
A) B

B) A

C)C

D) D

47) The population of a town increases by 80% in the first
year and further it increases by 20% in the second year.
The overall increase percentage in population in two years
is

47) 91Z< &7 AETET g 94 § 80% =I5 W 2 Y 396 918 98
T TT | 20% F€ ST 2| 27 91 § SITaeAT § T Faerd afs
fora=it grfi?

A) 95%
A) 95% B) 100%
B) 100% C) 80%
C) 80% D) 116%
D) 116%
Page160f58
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48) If the seventh day of a month is three days earlier than  48) 37 HEIH F1 "TaaT &, FAT 7 o9 &7 Uger o71ar g, a7

Friday, what day will it be on the nineteenth day of the g T St & @ ar 5w grme
month?
A) THATE

A) Friday B) AHATL

B) Monday C) A EEIRS

C) Sunday D) TUAX

D) Wednesday
49) Directions: A statement followed by two arguments 49) FRger: woT § UF FU9 F 412 &7 ao 190 T 2 B (i) 3T (i)

numbered (i) and (i) are given below. Select an option to T 'img' RERR Ti,i TuE i, o T A q‘_{ﬁﬁ

) . . . . w7 T HH FAT GG H FIF A7 % AoAGd g AL BT Ar
decide which of the given arguments is strong and which T ST S|
c

argument is weak in respect to the statement.

FA: T YL 390 Y el U fesaferamer geT 9ngu?
Statement: Should there be only one university throughout

the country? 54

(i) BN 92 =91 & Tt & WIeai § UHETar 9910 L@ 57 Jaf
Arguments: THRAT a9 2|
(i) Yes. This is the only way to maintain the uniformity.in (ii) 21 Z91 3 =2 et o wormta =9 F fReatEermerr aiFamsi
standards of education throughout the country T e T T A 21
(i) No. It is quite difficult to control the university processes . N X
administratively in several parts of the country Ap s o () T 2

B) &1 @ (i) ST (i) worga §
A) Only argument (i} is strong C) 7 ar & (i) 3 7 & % (ii) 7@ &

B) Both arguments (i) and (ji) are strong

D) Fad a4 (i) 799d &
C) Neither argument (i) nor argument (ii) is strong

D) Only argument (i) is strong

Page170f58
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Direction for Questions 50 — 51:

Read the following information and answer the question

that follows:

The runs scored by 7 cricketers in a 4 match ODI series

against South Africa is given in a table.

Direction for Questions 50 - 51:

&7 TE ST I aEE At g s Ia AT

TTeror svhieRT & fRreTs 4 A= 7 ODI Hiaw 7 7 et 51T
TATT T THT T U Zae | 29T 4T 2

TR AT A g AT H I‘cﬁ'ﬂ%ﬁ?ﬁ‘g‘ﬁrﬂa’ﬁ
| e d SACIT SENICIT SAC AT &[T 0
i o Runs Runs Runs Runs Lm:r wrdr o AT &
ame of the : . : :
| . scored in scored in scored in scored in e e Nl &
Cricketers
7 1st match [2rd match 34 match 4t match
Robin a3 35 43 76 14
35 43 76 14
Uttappa . .
TfRETemt 12 58 32 41
Rohit
12 58 32 41
Sharma ERCEIEEING 38 89 71
Virat Kohli |56 38 89 71
M.S.Dhoni 21 23 48 57 T T ST (24 23 48 57
Suresh
Raina 66 29 o6 i EXTT 66 29 56 15
Yuvaraj .
, 36 72 20 55 REREREEAC 72 20 55
Singh
Ravindra | b9 a2 46 iz A g 29 42 46
Jadeja

50) By what percentage approximately the total runs

scored by Virat Kohli is more than the total runs scored by

Robin Uttappa?

50) a1 Frge | §IRT 91T 0 Fef I U T SAHT T a470
T FeT AT T Gl H oha FTa9rd A8 22

A) 51.20%
A) 51.20% B) 55.30%
B) 55.30% C) 48.20%
C) 48.20% D) 58.90%
D) 58.90%
Page180f58
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51) Who scored the 2nd highest runs in the series among
the 7 cricketers?

A) Virat Kohli

B) Suresh Raina
C) Robin Uttappa
D) Yuvaraj Singh

51) 7 Toehei W & HT § TAT 999 STT&T I 9911 Tt
FNRERCE il

B) T &

O RUERERL

D) a4 g

52) If 'North' becomes 'West'. 'West becomes 'South' and
so on, then what will 'North-East' be called?

A) East

B) North-East
C) North-West
D) South

52) =& 'North' 'West' 37 STraT 21 'West' 'South’ 39 SITam g
AT, a7 'North-East' Fr #97 Fg1 Smaar?

A) East
B) North-East
C) North-West
D) South

53) R walks towards north. After a while, he turns to his
right and after going little further he turns to his left. Finally;
after walking a distance of 1 km more, he turns to his left

again. In which direction is he moving now?

53)“R" 3T¥ T A TAGT 1 T 3T ATE, T AT 705 AT
HEAT 2 317 F@ gL ST H ATAT 918 AL G2ar gl sia 7 1 km g
ST ¥ 413, 98 e & 9T 918 ST qear 31 o 9g e Rar F
ATTETE?

A) North A) FaT
B) West B) T
C) East C) EEl
D) South D) &fér
54) The missing term in the sequence 3, 90,3600, ,  54) %% 3, 90, 3600, ___, 10800000 # siqued €T &:
10800000 is

A) 720000

A) 720000 B) 200000

B) 200000 C) 180000

C) 180000 D) 540000
D) 540000
Page190f58
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55) If P denotes *+', Q denotes -, R denotes '+, S denotes  55) TR P &T &+, Q& 4T ", RFT 3 '+, STHT AT X' §

x’ and 28P8R4Q351= a3, then the value of "a" is

A) 2
B) 3
C) 1
D) 4

37 28P8R4Q3S1= a3, a7 "a" T W ATd FiTorT]

56) Select one of the following four options that will make

the second pair analogous to the first pair given as:

Coffee : Ethiopia :: Tea :

A) China
B) India

C) Brazil
D) Pakistan

56) Frrferam 9% =i & & Us &7 999 FL S ga@dl SIS A
TEAT IS & ALET AT a0
FHIhT: T EETOET - =14 |

A) A

B) %
C)#TFa
D) RUESSIE]

57) Select one of the following four options that will make
the second pair analogous to the first'pair given as:

Seismology : Earthquakes :: Occultism < .

57) freferfaa = et § 9 uF =1 =99 55 90 & @l SEr
T TgeT SITET & STET 9T <A
e RCEICHE G 1

A) Supernatural INEEURE RIS

B) Silk B) T

C) Astronomy C) = fa=

D) Eggs D) #T
Page200f58
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58) In the figure given below, circle represents youths,
triangle represents the persons who are in job and
rectangle represents illiterate persons.

Which of the following numbers depicts illiterate youths
who have a job?

A)5
B) 10
C)4
D) 3

58) == &1 T SSfd T, g, TaTsH 1 T T8 Hal g,
Frfertere =riReg T & 9ridr gl

AR
23/

Fraferem & 7 w1 = Jean g7 afeifea garsi ot g

A) 5
B) 10
C) 4
D)3

59) A statement followed by two assumptions are given
below. Select the assumption(s) from the options-which'is
implicit in the statement.

Select

(A) If only assumption (i) is implicit

(B) If only assumption (ii) is implicit

(C) If both (i) and (ii) are implicit

(D) If neither (i) nor (ii) is‘implicit

Statement: Detergents should be used to clean clothes
Assumptions:

i) Detergents form more lather

ii) Detergents help to dislodge grease and dirt

50) #= TF FT F 9T% 2T AU ST S £ Ruw e g
I HTIUIT T 949 &< o[ A9 § A ied 2l

=

<
(A) ST 3Faer e (i) stafifa &
(B) WWW(H)%‘E@H%
(C) == 2T (i) i (ii) stafifee §
(D) =TfE 747 (i) T 7 27 (i) slaHZa g

FU: FAST 1 THIS & (10 (Feeie T AT ST AUl
LU

i) Teesie =mr 3tfere 3= 2l

ii) feeste ReTE SfiT Wit 7 g2 | Hag F5d 3
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A) C A) C
B) B B) B
C)A C) A
D) D D) D
60) Choose the alternative which closely resembles the 60) T &&= 7 I3 &L, 9T (2T U HITAT o a9 STatad 9
mirror image of the given combination. FISH889EAT ﬁw—wé‘? FISHB88SEAT
A) TA38esHz21 A) TA38esHz2I7
B) T3JA§esHz2Iq B) T3A8egHe2H
C) TA3es82HIA C) TA3e882HI
D) TAJes8HaIH D) TA3eg8H2IH
Page220f58
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Section 3 - Subject02-Reasoning

61) Select one of the following four options that will make

the second pair analogous to the first pair given as:

IMPACT : PMITCA :: ANSWER : ?

A) SNAREW
B) SRWENA
C) ASNWRE
D) ARSEWN

61) Faferfaa == et & 9 uF 7 =599 #9574 TS &0
TZAT TSN 6 THET T

IMPACT : PMITCA :: ANSWER : ?

A) SNAREW
B) SRWENA
C) ASNWRE
D) ARSEWN

62) Which picture is different from the other pictures in the

figure given below?

K-

62) = KT AT srEE 7w AT B
== & Fr g ?

K-

Mm @ @ @ M @ @ @
A3 A)3
i B) 1
cy2 Cc)2
D) 4 D)4
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63) Identify the odd one out that does NOT satisfy the
propenrty: The letter next to a vowel

A)P
B) B
C)K
D)V

BS)Waﬁﬁwaﬁrﬁaﬁsﬁmwﬁwﬂiﬁw%@
T FOT T AT AT

A)P

B) B

C)K

D)V

64) A triangle is formed by natural numbers from 1 to 21.
First row has 1st number, 2nd row has next two numbers,
3rd row has next three numbers and so on. Which of these
numbers when joined forms a triangle?

A) 5,12,14,5
B) 1,7, 16, 1

C) 9,13, 18,9
D) 11, 13, 15, 11

64) TF FHFT FT 1 F 21 TF T UG AT AR IAET TET
T ageit fE § TEHT HEAT 3, gE URh # S AT AT S A
LT Ofch § STeT A AT | ecdTia | TAH | i 7 90
STE T e THarE?

A) 5,12, 14,5
B) 1,7, 16,1

C)9,13,18, 9
D)1, 13, 15, 11

65) Sunil buys 6 pens for Rs. 10 and sells them at a price
of Rs. 6 for 4. What percentage is the loss or gain for
Sunil?

A) 10 percent gain
B) 10 percent loss
C) 12 percent loss
D) 12 percent gain

65) T .10 7 6 T AT § 1% 35 2. 6 &0 A T 4
FAH AT gl oI b T e 41 | Teham wiaer 27

A) 10 widerd e
B) 10 wiwera grie
C) 12 yiaerd griv
D) 12 widera are
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66) A set of statements is given.
A) P is a perfect square,
B) P is greater than 2000.

Which of the given set of statements should be used to

66) FI=T F1 UF 993 "ar m@r gl
A)PTT T E,

B) P 2000 # srfer g1

I P>1 2 7 99T P 0% AT<T H&4T §: T6 THEAT T THTE
T LA & [0 30 10 F97 % 73g § 7 Fheeer 3ugnr Far

decide the solution to problem: Is P a prime number if P>17? ST TR

A) Both A and B together

B) Only B

C) Only A

D) Not possible to decide even with both A and B

A) A 30T B THT UH AT
B) ¥a<T B
C) FaaT A

D) A 3% B T % A1 9T & FaAT 999 78l &

67) Look at this series: 100, 92, 85,79, 74, ___.

What number should come next in this series?

A) 70
B) 65
C) 69
D) 60

67) 58 gE=r &0 v 100, 92, 85,79, 74,
TH HET H S FO G HEAT AT ATR0?

A) 70
B) 65
C) 69
D) 60

68) In a business meeting, there were 8 persons who were
shaking hands with each other only once. How many hand
shakes will take place?

A) 36
B) 28
C) 21

D) Cannot be determined

68) TH SATEHTAE 95 §, 8 AN &, FT TH-ZAL & T T 21
T 2T T0eTa 21 0T 3mae | et =1 gy [

A) 36
B) 28
C) 21
D) Feiia 2T foar st war 2
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69) If L>M, M=N and D<M, then which of the following 69) g% L>M, M=N iz D<M, 91 551 & ¥ %1 91 949 Toq 272
relations will be false?
A) L>D
A) L>D B) M<L
B) M<L C)L=N
C)L>N D) N<D
D) N<D
70) There are two towns, A and B. In A, population 70) &7 9Tg7 8, A ST B. A H, 2¥ 99 10,000 F sTaT= 9 SRT
decreases by 10,000 every year. In B, population increases g1 B #, ¥ a7 15,000 FT =TT 3¢ S1d1 21 B 37T A &f wiim®
by 15,000 every year. What should be the difference HTETET & 19 FT7 T 2FP AN Fi% ST saTar 30 90 915
between initial populations of B and A if their population A 2T AT 272
becomes equal after 30 years?
A) 450000
A) 450000 B) 750000
B) 750000 C) 600000
C) 600000 D) 108000
D) 108000

71) How many triangles are there in the following figure?  71) Fferaa & o g Breemr €2

D E D v E

B 7 C / 4 \
B ¥ C

A) 4 A) 4

B) 9 B) 9

C)10 C) 10

D)2 D)2
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72) If the signs '+ and 'x" are interchanged, then which one  72) & '+ 3iiT 'x' ==l &1 0¥ § Taa AT 11 8, 4T

of the following four equations would be correct? ot I FHEO | FI 9T 9e gFm?
A) 20x2+5+1-6=29 A) 20x2+5+1-6=29

B) 38-14+2x6+3=12 B) 38-14+2x6+3=12

C) 50+2x5-6+2=27 C) 50+2x5-6+2=27

D) 16+12-6x2+2=22 D) 16+12-6x2+2=22

73) Badri and Vasu are running at the same speed of 12 73) 92T 3i< a1 U 21 7T 7 12 kms/hr E1g T8 81 graite, T5T
kms/hr. However, Badri started an hour earlier than Vasu. 7 aTg & U& He T 90 ATl €19 ST =7 % 919 i1 200

The distance between source and destination is 200 kms.  kms g1 79 7 40 kms I &1 T FLA & 918, I8 FI4T T
After Vasu has covered 40 kms, he decides to increase his &1 1 THel H4d & TN T qHT T Tq=T T a6 | A

speed so that both of them reach the destination on time. " i ey il =T g (kms/hr )72
By how much should Vasu increase his speed (in kms/hr)?

A) 1.04

A) 1.04 B).0.89

B) 0.89 C) 11

C) 1.1 D) 0.97

D) 0.97

74) Find the odd one out. 74) 5w 9% T 19 W
A) Vikramshila University A) TERATIET FeaEteETe
B) Pushpagiri University B) T faeafemmem
C) Valabhi University O EERIECIECIER]

D) Takshashila University D) T et
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75) In each of the pair given in options, the 2nd term is 75) Taeedt ¥ fau 10 uers el #, g9 98 UF $ GE & Tgd
related to the first term in a certain way except one. Which 7= & = e o & Fafaa 81 T & T 09 97 AU 22

is the odd one out?
A) FAHF T - STETH

A) Fiction-Novels B) q:n']%w -wfEET
B) Literature-Poems C) fE=sm= - Tﬁ?—r
C) Science-Geography D) 9T - giaer

D) Calculation-History

76) Among the given triad of terms, identify the triad in 76) T 10 19 9=l # |, ST AT f 9241 F7 [ordd 98 TS
which the terms are similar to each other. ZH F AT 272
A) RT-MO-BD A) RT-MO-BD
B) AC - NP - JK B) AC - NP =JK
C)YZ-CD-MT C)YZ-CD-MT
D)JD -RT-0S D)JD-RT-0S
77) How many triangles can you count from the given 77) fTw srw o o 3 g foeae B & 9 996 82
figure?
A) 36
A) 36 B) 38
B) 38 C)26
C)26 D) 44
D) 44
Page280f58
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78) A chart is given here. Using this chart choose the 78) T2l U AT T3AT 74T 31 7 91 FT ITART FiLd gU 39
altemative which resembles most closely the mirror-image &= =1 797 F+% 9T FRANKY &1 % aior-ufofamr & qag
of the string FRANKY. e faEar
Pllrror Mirror irror
Letters Letters Numbers| ¥ N M 1 d
IImages Images Images
A |\/ N M ] L I]3 0 0 0 2 E‘@
B |p o 0 | @ IC U P Q 3
c v P 8 o @ P 4 o,
' | E F R S
D 1 Q P 5
4 % ||= E s R ﬁ
E R s | 6 !
\E 5 G G T | |
F S R \H 7
| | 6 ! N u
G @G T | { | 8
| 7 I H VoL |
H N U U E L 9
| 8 P W M |
| H \2 \%2 \P | 0 7
| 9 - K Vv X X
J P w Y| J R :
< |k/ ey . IL P Y v
Z N
L P Y Vv VA«
M :N z N
A) ESVMWV
A) ESYMWV B) ESVVVN
C) EVW5SUM D) ERVVVN
D) ERVVVN
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79) A cube of side length 16 cms is painted red on two of ~ 79) T == fSraehT 1< & Fa1E 16 cms
its opposite faces. On remaining faces, it is painted blue. It & ST 31 AT Tag e 1 7 W € i ardhr qag Fa &

is then cut into small identical cubes of side length 4 cms. & 38 4 cms AR T Fa1 F TS 0 GBI 94T § H1T 197 2.
How many cubes will have exactly two faces coloured, one  [Fa 7 U &1T Foraht 2T Hag G ZrHT U w1t o gady

red and and one blue? et
A) 8 A)8
B) 16 B) 16
C)32 C) 3z
D) 24 D) 24

80) Showing Ruben, Vivek told, “His only brother is the 80) =47 FT =T, & = Fal, " SHF1 Uha AT A15 7l 9ef
father of my daughter's father.” How is Ruben related to F Toar & TraT 51" 76 = fFas 7 Fraag g7
Vivek?

A) far
A) Father B)&I<t
B) Grandfather C) e
C) Brother D) F=ET

D) Patemal Uncle
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Section 4 - Subject03-Computer Science

81) In one of the scenario's, user wants to write the output ~ 81) TR ¥ 7 T #, STITHAT ASTYE F TF I8 92 foramr

to a page. Which of the following JavaScript commands TEaT &1 g forg e 5 & A A ST 6w

should be used for the same? EXRILAERIE ISR LAY

A) Jscript.write A) Jscript.write

B) HTML.write B) HTML.write

. .

C) It is not possible C) IT T TR §

D) document.write D) document.write
82) Identify the MS Word tool shown in the following 82) Fafertaa == o o= 1w MS 3 7 it 8= 12
picture?

A) Word Art

B) Font Colour

A) Word Art C) Merge Text

B) Font Colour D) Text Box

C) Merge Text
D) Text Box

83) In RDBMS data is stored in: 83) RDBMS ¥ =T gl Tuizd 2T a7

A) Trees

A) Trees
B) Lists B) Lists
C) Tables C) Tables
D) Networks D) Networks
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84) Queue is

A) Both Linear and Non-Linear data structure

B) Structural data structure
C) Non - linear data structure

D) Linear data structure

84) T FTE?

A) AT AL TA-AIHIY Sl BFaL Ml g

B) THIA LT EF G

C) - a7 g

D) BUAREECIE S L8

85) Which of the following C statements can also be used

in place of num[i]?

(i) *(num + i)

85) Frefeiera & 7 F19 7 99 &1 STFRT num [i] F 2= 9T

ThaT ST FHar 872

(i) *(num +1)

(ii) ifnum] (ii) iflnum]

(iii) *(i+num) (iii) *(i+num)

A) Only (ii) A) AT (i)

B) (i), (ii) and (iii) B) (i)., (ii) &t (ii)
C) Only (i) C) A (i)

D) Only i) D) &= (i)
86) The boolean expression 86) T =oF

can be minimized to?

A) Z = ABC + BCD +ABCD|
5) Z = ABCD + BCD + ABCD
C) Z=ABCD + BD + BCD

D) Z = ABCD + BCD + AB

Z =ABCD + ABCD + ABCD + ABCD
T AT HF 9T 9T F9haT 57

A) Z = ABC + BCD + ABCD|

B) Z= ABCD + BCD + ABCD

c) Z=ABCD + BD + BCD
D) Z = ABCD 4+ BCD + AB
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87) Find the logic equation for the truth table given

A B Y
0 0
1 0 1
0 1 1
1 1 0
A) ¥y = 4B* AB
B) ¥ = AB* AB
C)Y = AR+ AB
D)y =AB+ AB

87) faw 10 31 2 & for Ao e e

A B Y
0 0 0
1 0 1
0 1 1
1 1 0

Ay = AB* AB

B) ¥ = AB* AB

C)Y =AB+ AR

D)y =AB+ AR

88) Study the screen shots given below.

Data 1 Data 2 Data 3 Data 4
100 200 300 400
600 700 800
500
fig1
Format Cells | 7] x]

Number  Alignmert | Font | Border | Pattems | Protection |

Text alignment Orientation
Horizontal: Indent: ..

T .
Yertical: e Text —*
x 5
|Bottom =] b i
.
-

Text control [ E‘ Degrées.
I~ Wrap text —
I strink to ft
I™ Merge cefls

oK I Cancel I
fig 2

The number 500 has been given a two-column spacing.

What option must be selected from the image above to

achieve this?

A) Shrink to fit
B) Wrap Text
C) Select two cells and press delete

D) Merge Cells

88) = T 0 = o1igd &1 737 F

Data 1 Data 2 Data 3 Data 4
100 200 300 400
600 700 BOO
500
fig 1
Fommat Cells EHE
Mumber  Alignment I Font I Border I Patterns l Protection [
Text alignment rOrientation
Horizontal: Inderit:
] ixl o = ;
Yertical: €
x
tBottom _:I 13
Text control Ig E‘ Degrees
I Wreptext
I Shrink to fit
™ Merge cefls
I OK I Cancel
fig 2

TT 500 =T Ueh ST (0 ST 41 TS 21 T3 9T F347 & o0
ST SHW | I AT & AT T ATR?

A) Shrink to fit

B) Wrap Text

C) Select two cells and press delete

D) Merge Cells
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89) Find the logic equation for the truth table given: 80) e U g1 A & for AT e e
A B ¥ A B Y
0 0 0 0 0 0
1 0 0 1 0 0
1 1 1 1 1 1
A) Y = AB*(A+ B) A) Y = AB*(A+ B)
B) Y = AB + AB B) Y = 4B+ AB
C)Y =(AB)*B C)Y =(AB)*3B
D) Y=B D)Y=8

90) Which element would get first deleted from the stack? ~ 90) ¥ ¥ & F-al UieHe &< ¥ F T2 [2lE gAT?

A) The element in the middle of the stack A) o o A= T e

B) Any specified element B) g FfdE ufeiz

C) The element at the bottom of the stack @) TF AT H U

D) The element at the top of the stack D)é_‘ﬁ%gﬁﬁﬂﬂﬁ'ﬁ?

91) Which of the following options specify how many 91) et & & =i o1 Reer A wwar g & G afedt

instances of an entity relate to one instance ef another T a1 ST Forell e Uil o U 72T | Hated 57
entity?

A) st
A) Redundancy B) ENECIEECA
B) Ordinality C) TEIHRET
C) Atomicity ) RUERIEC
D) Cardinality
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92) What would be the resultant value after executing the
function =-SUM(C2:C3) as shown in the following figure?

C4 v #~ =-3UM(C2,C3)
| A | B c | D
1]
2| _ 1234
3 1235
4 | |
5
A) 1234
B) 2469
C) Invalid
D) -2469

92) Frferfera fd & JqE, HEr = -SUM (C2:C3) &'
e e & e TR TEw T geT?

C4 v A& =-SUM(C2,C3)
| A | B [ ¢ T D
1] _

L[ ) 1234
3] 1235

[ 4 | |
5 | ! s

A) 1234

B) 2469

C) AT

D) -2469

93) Which of the following options does the CPU memory

include?

A) Secondary Memory
B) Only Scratch Pad Memory

C) Scratch Pad Memory and Cache Memory
D) Only Cache Memory

93) fewferiara & & i+ 1 Heew CPU 39T 7 oniie 27

A) FRELT FHET

B) Al &R UT HAT

C) T T AHRT ST her AT
D) et e AAT

94) Identify the CORRECT declaration of double
dimensioned array.

A) int arr[2,2];
B) int an2][2];
C) int ar[2][3][4];
D) int *arr[10];

94) FreraT X % FET FRaTerT il A wL

A) int arr[2,2];
B) int arr[2][2];
C) int arr[2][3][4];
D) int *arr{10];
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95) Which of the following statements is true about
JavaScript?

A) JavaScript doesn't execute without preliminary
compilation

B) JavaScriptis not an interpreted language

C) JavaScript along with HTML should be compiled
before executing

D) JavaScript executes without preliminary compilation

95) AT F 9 § Fofeiad § T #19 a1 597 931 872

A) STETREF= R THF FIISA9 % @47 FEi-ad (THFFE)

B) STATERE UF 23fies AT Ao ¢

C) HTML % |1 SITaTi&Re &1 Frifad (TFREE) i 9
TE PSS [T ST 910

D) STaTiEhe T SIS % (&1 Haifead (TFe)
BT

96) Who is the father of computers?

A) Gottfried Wilhelm von Leibniz
B) Joseph-Marie Jacquard

C) Charles Babbage

D) Wilhelm Schickard

96) FFHET FT IATH (44 Fglarar s ?

A) TzhTeE FHegd aid i
B) STAT-HT SFTE
OEIGEES]

D) fAeew forers

97) Which of the following conditions correctly check the
underflow condition in a queue?

A) front=-1
B) rear =1
C) rear = size

D) front = size

97) frer Rufaat & & w9 Fufa 73 & siewwar £ Rafa #r
A) front= -1

B) rear=1

C) rear = size

D) front = size

98) What does a Quad in a K-map represent?

A) Difference
B) Sum
C) Product

D) Don't care

Page360f58
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A) #aT
B) AT
C) T

-

D)E:I'EEITII'{
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99) Which of the following can be an intemal storage 90) MHAITET & 7 I UF Soiad e (Sa15H gl 9%a1 g7
device? <
A) T FTEA
A) Pen Drive B) T RFF
B) Compact Disk C) 3E fe=h
C) Hard Disk D) Eifsiee awiere Ben

D) Digital Versatile Disk

100) Start 100) Start
Read n1, n2 Read n1, n2
If n1 > n2 then If n1 > n2 then
Print n1 Print n1
Else Else
Print n2 Print n2
End if End if
Stop Stap
What will be the output if we change the condition to TTa & o1 I I N1<N2 T &l g ¥ T FT gAT?
ni<n2?
A) n1 w=fsi| grm
A) n1 will be displayed B) FIM1 =TSl  H T2T WK O
B) Largest of the two numbers will be displayad C) FIAT H=TTH | GIeT e idd g
C) Smallest of the two numbers will be displayed D) n2 w&fia Zr

D) n2 will be displayed

101) Simplty 101) Z = (A+B+O)D gy et

Z=(A+B+C)D
A) Z=A+BC +D
B) Z=AB+CD
C)Z=AB+T)+D

D) Z=AB+C)+D

A) Z=A+BC+D
B) Z=AB+CD

C)Z=AB+C)+D
D) Z=AB+C)+D
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102) Which of the following infix expressions is obtained on 102) Tr=ftFF TFY9-T AB-C + D EF - + § #r fafda

converting the postfix expression AB-C+DEF - + §?

A)A-B+C+DS$E-F
B)A-B+C$D+E-F
C)A-B$C+D+E-F
D)A+B-C$D+E-F

F 7T T F 7 A 97 TR e I i ST 22

A)A-B+C+DSE-F
B)A-B+C$D+E-F
C)A-B$C+D+E-F
D)A+B-C$D+E-F

103) Simplify Z = A BC + A

Az =BC
B) z = BC +1
Cz-4BC
DYz -T

103) Z = A BC + A =1 azefiga 7%

Az = BC
B) 7z = pC +1
Cz =AAC
Diz-a

104) The formula =C3+C4+CS5 has been copied from cell
C7 to cell E7. What will the formula bar display when.the
cell selector is in cell E7?

A) =E3+E4+E5
B) =E4+E5+E6
C) =C7+D7+E7
D) =C3+C4+C5

104) AT =C3+C4+C5 FT C7 o | E7 5 | w47 a7 1T
2| T H HerFeT E7 HF § ST A1 AT AT F4T TS0

FIT?

A) =E3+E4+E5
B) =E4+E5+E6
C) =C7+D7+E7
D) =C3+C4+C5

105) You need to save an existing word document in

another name. Which of the following options will you use?

105) ST UF His@T 9 STagie T T 37T 770 7 39 FT
#T AFIIFHAT g1 AT Foterraa § 7 & SaeT 57 S9300T Fr?

A) Insert A) Insert

B) Save As B) Save As

C) Save C) Save

D) Edit D) Edit
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106) A queue in which addition as well as deletion of

elements can take place at both the ends is called

A) Simple queue
B) Circular queue
C) Double-ended queue

D) Priority queue

106) TF F fored Uferie & SIS & AT9-97 geHT 8 &l
o FET ST HEAT E, ST T T AT E?

107) What is a Signature in the email?

A) ltis an in-built digital signature sent alongwith your
email ID as a QR code

B) Itis an electronic and digital signature sent alongwith
your email
C) ltis actually the email ID of the sender attached at the

end of the email body

D) It is a block of text appended to the end of an email

message generally having contact information of user

107) 0 § U= ZEaTaY F9T 51T 27

A)

al

= T QR 1T F =H S S8 |D 3 AT S 97 T
s T e g
B) Tg HATTH S Tl o, AT ST AT T SATSI - A% (= (ered

oy

C) o5 9T5ad ¥ $H« JiST F 9d | |y I0= & 30 [D graT 3
D) T3 Weh SHe 9597 % 37d H G d <o o1 U =1 g 999
ST % T STITERAT i 6 AWFRT 2T

108) Which one of the following is a secondary storage
device?

A) Monitor
B) RAM
C) Hard Disk

D) Processor

108) F=fFilaa H &1 F19 WF fehedl W [2aT5d 572

A) HiHET
B) RAM
C) 7 Z=h

D) ST
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109) What should be looked at first to find simplified

Boolean expression from a Kamaugh map?

A) Quads
B) Singles
C) Pairs
D) Octets

109) T FHT AT F HLETFd Lo SHoF Fl G 5 (o0 TIH
TS T 3ET AET ATMRU?

A) T

110) Ethemet is also known as:

A) 803.2
B) 802.3
C) 8025
D) 802.11b

110) £2AE T 9T & =9 § T ST ST &

A) 803.2
B) 802.3
C) 802.5
D) 802.11b

111) Which of the following prefix expressions is obtained
on converting the infix expression A* (B -C)?

A)ABC*-
B)-A*BC
C) *-ABC
D) *A-BC

111) SFFFT THFa9e A * (B - C) FT Tafdd wed 6 HA J &

A)ABC*-
B)-A*BC
C)*-ABC
D)*A-BC

112) Simplify Z = AB + ABC

112) Z = AB+ ABC = weefiga 9%

A)A+B A)A+B

B) AB B) AB

C) 4BC C) a3C

D) A+ BC D) 4+ BC
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113) Which of the following conditions holds TRUE for

a queue of fixed size?

A) Both Overflow and Underflow
B) Neither Overflow nor Underflow
C) Underflow

D) Overflow

113) T Rafai 7 & = i Fafa o RfSm sme fr g

A) AT 31T ASTFAT & AT
B) AT AT T SfiT BT STl
C) B -

D) =TT

114) The first generation of computer was based on

A) VLSI microprocessor
B) Integrated Circuit
C) Vacuum tubes

D) Transistor

114) FogeT Ft Tav T e a2 s 17

A) VLS| ATEH 9 HHT
B) EEHIEE Afhe

C) FH =1

D) Zifsres

115) Whatis a virus?

A) Itis a computer device that can copy itself and infect a

computer without permission or knowledge of the,user

B) ltis a computer keylogger that can copy itself and
infect a computer with permission or knowledge of the

user

C) ltis a computer device that can copy itself and infect a

computer with permission or knowledge of the user
D) Itis a computer program that can copy itself and infect

a computer without permission or knowledge of the

user

115) U aAZA FT AT 87

A) T FeT [SaT59 2 AT &= 7 HdT FT TaHaT g A<
ITTNTHAT 6T ATHI AT AHFIRT 6 AT FRET T Hhiad
FLHFATZ

B) Teh HEL AN g ST T4 I FHI°T HL FHHAT g AL
JUFTTHRAT T AT AT ATTHIET 6 AT FEE Fl TR
FLHFATG

c) T e (a1 2 A7 = F1 F9T F ThdT 8 3T
FUFTTHRAT T AT AT ATTHIET 6 AT FEE Fl TR AT
L AFAT

D) T T TITH g ST S04 T FidT L THdT g AT
ITTATHAT i ATA AT TR o (AT FEL T HhiHa
L AFAT g

Page41of58

Page 41



Set Id : 51357_10

Computer Operator_21-12-2018 Batch01

116) Which of the following options is used

for conecting flow chart onto a new page?

A) predefined processing
B) flow line
C) off-page connector

D) on-page connector

116) TIT =12 &0 70 98 I 124 & forw 79 7§ 7 #39 =7 f@eey
A) FifEwrEs TrEfET

B) T wATST

C) AT FraT

D) - FaeT

117) A linear LAN architecture in which transmissions from
various stations on the network are reproduced over the
length of the medium and are accepted by all other stations

on that network is known as

A) Mesh Topology
B) Bus Topology
C) Star Topology
D) Cell Topology

117) 39 SI=a¥ LAN Sshes=< &1 F97 Fgl 91al g oad
Heah 9T Iqer=y (=T SO E THICO T HIEAT & e 0

T I (64T A1AT 3 3T SH 9 eds T HisE T g
TINT 5T E T AT St s?

A) HT ETITTS
B) T ZITretait
C)A=TE TSt
D) St Erqreisiy

118) Which material is used to manufacture Camputer
Chips?

A) Silver
B) Iron
C) Gold

D) Semiconductor

118) dgz< o= & Rmior § o 9=l =1 ST T ST 87

A) =Tat
B) ¥TEr
c) AT
D) fiHiFERT
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119) Which of the following option(s) is/are the variations of 119) Fferfara & & Fa= |/F STy Fr ATaeam /52

the deque?
(i) Input restricted deque
(i) Output restricted deque

A) Only (i)

B) Only (ii)

C) Both (i) and (ii)
D) Neither (i) nor (ii)

(i) 3ge =t g
(O EIEES R IREIE C R By
A) =T (i)

B) & (ii)

C) (i) ¥ (i) =T

D) 71 (i) ST (i)

120) Start

setnum=20

display " enter the number"
read num

if ( remainder (num/2)=0)
display "yes"

else

display "no"

end

If the output of the above algorithm is "yes", it indicates that =% ST TTIEH FT TROTH "yes" §, AT I SHIG FLAT @ 16

num is

A) Even number
B) Amstrong number
C) Odd number

D) Prime number

120) Start

setnum=0

display " enterthe number"
read num

if ( remainder(num/2)=0)
display "yes"

else

display "no"

end

num

A) T HEATE
B) ST HEATE
c) Auw e g

D) IS HEATE
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121) To get a boolean expression in the product of sum

form, from a given K-map

A) one should cover all the 1’s present and complement
the resuliing expression

B) one should cover all the 0's present and complement
the resulfing expression

C) don't care conditions should not be present

D) don't care conditions, if present, should be taken as

Zero

121) T &7 71 K-map &, T00 & 06 F a9 SAah

ITH & & o

A) T SUTEAT 1's 7 AFEATAT HeAT AT A% TOTHT
A il HIEATHE HEAT AT

B) =T sufeera 0's =1 witafea wewr =Ry s gt
S T HCATHE FAT AT

C)ﬁi"%ﬂ?ﬁﬁﬁﬂﬁﬁqi@la BELEEER

D) Eie FI< & 91, A9 SUAd 2, 91 9 o s =31z e

122) Which of the following is the CORRECT extension for

PowerPoint?

A) .pot/ .potx
B) -ppt/ .ppix
C) .png / .pngx
D) .pps/ .ppsx

122) wiavise & o Fierad o 7 I |7 Tef TFHae g2

A) .pot/ .potx
B) .ppt/ .pptx
C).png/ .pngx
D) .pps / .ppsx

123) What will happen if you press ESC key during
PowerPoint slideshow?

A) End of slide show
B) Minimizes PowerPoint window
C) Displays first slide
D) Displays last slide

123) TR T TiaTTise T8 97 & a1<= ESC $r' saa g ar
T ZH?

A) TS ST HATH 2T ATAT

B) Wiaryi<e AT forfiames gr siar €

C) & FATEE MR grar 2

D) sifaw =iree yafta grar g
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124) Stackis a

A) First In Random Qut structure
B) Last In First Out structure
C) First In First Out structure

D) Last in Last Out structure

124) 2% TF

A) T T {EH IS T g
B) T 7 B A8 Tl &

C) T T HEE ATST TLAAL G

D) ¥ITE & I SIS FHIL g

125) Which of the following statements is TRUE with
respect to differences between stacks and queues?

A) Queues use two ends of the structure but stacks use
only one

B) Queues require linked lists but stacks do not

C) Stacks use two ends of the structure but queues use

only cne

D) Stacks require linked lists but queues do not

125) =& 3% T F 9= a7 & A4y § Fafafg § F 19

| 9 qL1 87

A) L HLAAT o I AL STANT F:Ld g oA 1o T eh el Uh
FT I FLA G

B) L A1 feiws fome &l A= 9aehaT i1 3 g 2 il Aol

) T HTATE T AT TN F & AR A O
T TTA0 A &

D) = T foige oz i sraeaeraT Il § Ty #1751

126) The PID of the init process is

126) Init w1 &1 PID #7971 372

A) 1 A1

B) 0 B) 0

C)3 c)3

D)4 D) 4
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127) Which of the following statements is TRUE
about Footnotes and Endnotes in MS Word?

A) Both Footnotes and Endnotes print the comments at
the end of the page

B) Footnotes are used to mention comments about a text
at the end of the corresponding page, while Endnotes
are used to print the comments at the end of the
document

C) Both Footnotes and Endnotes print the comments at
the beginning of the page

D) Endnotes are used to mention comments about a text
at the end of the corresponding page, while Footnotes
are used to print the comments at the end of the

document

127) MS 7% ¥ Ged1ed X Uiz & v Faffea § 7 59
qTHEGT 57

A) ST GEATEH Y USHIEH FHEA T T3 % 3 & e Fa §

B) FART F SN AT B F AT TH IR H A H
FHEH BT ST LT F (1T [HIT ST1aT &, STl TEied &l
START TTFIHE & A | HHEH Hl 19 FIA & (o0 AT SIrar

=
Q

C)Eﬁgﬁ‘m T T USAICH FHH HI I8 Fi gFAT 7 {92
FLAE

D)‘QET-TIE'-‘T' TICH T ST ToATH T 9 3 A H Teh &5 h AT |
THEH T I T 6 110 [T STTaT §, STath GeAled
IUENT TTRIHE & AT H FHEH 3 192 0 & o1y T sirar

=
Q

128) In a HTML page, if the background image is smaller
than the screen, what will happen?

A) It will be repeated
B) It will be stretched
C) It will get clipped

D) It will leave a blank space at the bottom of your page

128) U HTML =1 ®, Ifq S9Fmse 389 Shia 3 Sidr g, a1 0

Al

AT g5 o = TF Gl Sg BIg 59T

129) In a Relational Data Model, which of the following
options describe how the data can be manipulated for

129) vs faem« Seraisa |, Fafofa Reen g g am ar
T FLaT 2 B F0 wT & o Fer 67 STE-aiE 9 6 ST gahar

a

querying? 27

A) Objects A) H=THH

B) Constraints B) FEgeH

C) Entities c) e

D) Operations D) ArTerE
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130) The primary characteristic of a key field is that it must 130) 't o=’ it yrafas FHeraar 78 g A1u & 78

be

A) atext
B) duplicate
C) a name

D) unique

A) TFZET
B)E'Gﬁaﬁ'?ﬁ'

C) TF A &
D)ﬁﬁ]’??ﬁ

131) When a single entity is related to itself then the

relationship is termed as:

A) One-to-many
B) One-to-one
C) Many-to-many

D) Recursive

131) 59 UF U UiEET =9 F Hafed gidr & af 39 Red &7

T Fgd 8-

A) T2
B) A=A+
C) #HT-Z- AT
D) e

132)
Given below is an ER Diagram depicted in Chen’s notation.
Match it with the CORRECT relationship from the "given

options.

Employes Name Employee ID

A) One to one

B) One to many
C) Many to many
D) Many to one

132) =7 Tree | = v ER srem {9 Rarmar g oo
Tl T ¥ 3 92T G4 % 9T 3 AL

| Employes [D

| Employee Neme }
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133) BCD digits in a Kamaugh map are restricted from:

A) 0000 through 1100
B) 0000 through 1010
C) 1010 through 1110
D) 1010 through 1111

133) Us FH1 49 ¥ BCD 3% Hif¥d grd 2

A) 0000 ¥ 1100 9=
B) 0000 7 1010 9=
C) 10107 1110 a=%
D) 1010 T 1111 7%

134) < HTML>

< HEAD>

< TITLE>HTML Sample< /TITLE>
< [HEAD>

< /HTML>

In the above given HTML code segment you need to add
an image file in the next paragraph. Which code segment
will you use for this?

A) < P>
< IMAGE height="100%" width="100%"
src="Sample.gif">
< [P>

B) < A>
< IMG height="100%" width="100%" src="Sample.gif">
< [A>

C)=<P>
< IMG height="100%" width="100%" src="Sample.gif">

134) <HTML>

<HEAD=>

<TITLE> HTML Sample</TITLE>
</HEAD=>

</HTML>

IO (RTAm HTML g 398 B STl 58 37 SLrTs 7

A) < P>
< IMAGE height="100%" width="100%"
src="Sample.gif">
< [P>

B) < A>
< IMG height="100%" width="100%" src="Sample.gif">
< [A>

C)<P=>
< IMG height="100%" width="100%" src="Sample.gif">
< [P>

< /P> D) <P>
D) <P> < IMAGE="Sample.gif">
< IMAGE="Sample.gif"> < /P>
< /P>
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135) What will be displayed in the browser page when the
following code is included?

< html>

< body>

< script type="text/javascript">

document.write("Hello World!")

< /script>

< /body>

< /htmi>

A) Hello World!

B) document.write("Hello World!")

135) Feferfg e =1e O aresiT 0= § 947 Wateid gremm?

< himl>

< body>

< script type="textfjavascript">
document.write{"Hello World!")
< /script>

< /body>

< /himl>

A) Hello World!

B) document.write("Hello World!")

C) "Hello World!" C) "Hello World!"

D) Nothing will be displayed D) T o = i¥a At g

136) On what technology does the Bluetooth work? 136) =2 [ a1 9T HTH FLar 57
A) Microwave A) BTEHTET

B) Radio Frequency B) =T sg i

C) Fibre optics C) FIEaY AT

D) Electro-magnetic waves D) REECESZEIRES]

137) How do you cancel the print jobs which are in queue
in windows?

A) Double click the printer icon and highlight the print job
you want to cancel > right click and select cancel

B) Once in the print queue, you cannot cancel the print
jobs
C) The printer must be restarted

D) Disconnect the printer cable

137) TEET & = & wE e 157 37 3T 5 75 FLa o7

A) TWex A I¥ T T4 6L 3T SH TUe F1F 6l gledrae

T TOTH AT T2 FAT 9184 2> Tae [ &< 3T Hfde 7
EPEETE

B) e a7 fife &7 ® 317 S 9, AT e Frat &7 0 T8l w%
C) T 1 o =T AT ZAIT

D) et Faw ger #t dAam #1
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138) Match the following CORRECTLY with respect to 138) Tl & day § MHiiad #1 a8l HaW Fii:

databases: 1. qeaTs A ST SHoTaT 5T ST AT 2T, A =T
1. Networked DBMS | A Data relrieved by unique keys; refslionships expressed through DBMS ?-ﬁ%rzﬁ' = OTeTH F =9 95T
alehing keys
2. RDBMS B. Store objects and operafions 1 be perforned on data; Applicafions B. T2T 9T FTATE Tl a1 SloolFed AT AT
interact with cbject managers which work through object servers 1o gain ] ) < " - S 3
attess 10 object stores 2. RDBMS ‘_l [,i"—f iy {“ Iul Eil‘rr 5 . kil -
3. 0DBMS C. Looks e severalrees thatshare branches; chikren have multpl ST A ¢ ST SllewrE T q g HH A
parents and parents have mullipla chidren % o0 Afeorae A4 % HTEAH o &1 $5d 2l
4, ORDBMS . Primanty a relational strughure wilh objeck-oriented features induded

C. ST T |TAT T AT &% U1 Al 945
3. ODBMS (fwar &; 5w % 8 ATar-faar § si Arar-foar
A)1-A,2-B,3-C,4-D % & HATH 2

B)1-C,2-B,3-A,4-D 4. D. 7= &9 F U WA= ACanT (oraH Ao
C)1-D,2-B,3-C,4-A ORDBMS [FITUEE 1 faemad amfirer §

D)1-C,2-A,3-B,4-D

A)1-A 2-B,3~C,4-D
B)1-C,2=B,3-A,4-D
C)1-D,2-B,3-C,4-A
D)1=C;2-A,3-B,4-D

139) Which device is usually not connected to the UPS 139) 37 A=t @Ud & FL0T AHA T 9€ FIF 97 STH0T UPS &

directly because of high power consumption? EIEEIEEFIEICIF-Y:

A) KVM switch A) KVM fea=r

B) Extemnal Mouse B) dTe] °HISH

C) USB video camera C) USB ifzar v

D) Laser printer D) A fifex
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140) In Unix, a process is a

A) tool
B) daemon
C) running program

D) stderr

140) I #, TTHE U
A)TTE

B) TAME

C) JaT T §

D) THEE IR AR &

141) What is the fullform of CPU?

A) Central Processing Unit
B) Central Performance Unit
C) Common Performance Unit

D) Common Processing Unit

141) CPU &7 0f &7 17 3?2
A) Hee TR e

B) et TIHITHA T

C) AT TTHIAT Gfe

D) FAA FHETIME

142) Which one of the following form control types does
NOT use the < INPUT> element?

A) checkbox

B) password

142) frsfefag # & 1 |7 Wi Fora 7 <INPUT> ufede
FSTIAT A2l FLaAT g7

A) checkbox

B) password

C) multitext C) multitext
D) text D) text

143) Start 143) Start
Read n Read n
Initialize i to 1. Initialize i to 1.
while i < n do: while i < n do:
Write i Write i
Incrementii Increment i
end while end while
Stop. Stop.
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Which of the following options is CORRECT?

A) Read number n and print the infegers counting up to
(n-1)

B) Read number n and print the integers counting up to i

C) Read number n and print the integers counting up to
{n+1)

D) Read number n and print the integers counting up fo n

Fraforfar 7 & e AT o 81 37

A) TE=IT N TET A (n-1) T Fea g0 qortET i e w0
B) H&AT n WET 3% i T e g0 quiii &7 e w0
C) E&dT n WgT 3 (n+1) T F g quriei 7 fiie #r
D) ST n WET 3 n @ Fea gu it 1 e 73

144) A LAN physical topology with end points on the
network converging at a common central switch (known as

hub) using point-to-point links is known as

A) Mesh topology
B) Star topology
C) Ring topology
D) Cell topology

144) T LAN AT SIOTeATsil fordsh "ea+ 97 Hieg d1aH f9g
Tigz-2aiZe 5% F1 3990 F0 gU UF A ey B (e
29 FgT ATAT ) T WA & &0 T FgT ATar 27

A) HeT ETTTEIST
B) T Zdteisi
c) e
D) & Eraretistt

145) Which of the following operation(s) is/are the basic
operation(s) of a queue?

(i} Enqueue

(i) Dequeue

A) Only (i)

B) Neither (i) nor (ii)
C) Both (i) and (ii)
D) Only (ii)

145) Faferaa & 7 F J1/A AT = 1 T =160 o/ 7

(i) TTRL
(i) Frrg

A) Fae (i)
B) =1 2t (i) =< 7 & (i)
C) T (i) 3 (i)

D) & (ii)
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146) Whatis a IP Address?

A) ltis the Internet Protocol

B) It is an internet posting address used to authenticate
the networks

C) Itis the unique number given to each device on the
network

D) Itis same as the URL

146) IP TgH FATEAT 72

A) T ST TETH &

B) qE $eiAe UM UgH 2 9 Jeash &l Yqiiva i % [0
ST T AET E

C) Tg wETh T YT (2 areH 1 fear wr fafire daw g

D) Tg URLF 89T 3

147) Random access storage device are also known as

A) Direct access storage device
B) Indirect access storage device
C) Sequential storage device

D) Tertiary storage device

147) 30 UHE 2 F912d $ 97 & 7 & off e srar

g7

A) STIVEE THIE 2o feared
B) TTETIAE UHIE =R (S91eH
c) FE e e Raa
D)ﬁﬁqﬁﬁiﬁﬁm

148) Which of the following was the first counting tool?

148) FEaferfd § & 9 Tger TUET STHIT 97?2

A) Aba Zaba A) FET wTET

B) Abacus B) #ew

C) Punch Card C) T HTE

D) Stepped Reckoner D) ¥ T

149) One Terabyte is approximately equal to 149) U ZOETEE AT foha el & IE grar g2

A) 1,000 kilobytes
B) 1,000 bytes

C) 1,000 megabytes
D) 1,000 gigabytes

A) 1,000 kilobytes
B) 1,000 bytes

C) 1,000 megabytes
D) 1,000 gigabytes

Page530f58

Page 53



Set Id : 51357_10

Computer Operator_21-12-2018 Batch01

150) Which of the following windows icon is clicked to

refresh a webpage in Internet Explorer?

T —
A) ey

B) 42|
c) ¢

D) <

150) TeTne TFT R | T Ja0sT &1 9697 e & form
oo § & w0 & =27 s = fBers BT smar 22

RN
B) ¢r

c) L1

D)

151) What is the other name for crackers, the malicious
hackers who infilirate secure systems in order to steal
information or cause damage?

A) Black hats
B) Infliterer
C) Pirates

D) Digital rogues

151) 5, gl 29 2 SILA=AT 6 JET H 91 @i

T & 9299 H qAiea GIied | # qq95 Fd 8, A 6F 71
TS AT 372

A) =T EZH

S ELRESS

C) TR

£

D) FEfsres T

152) ROM is an example of

A) Volatile memory
B) Fast memory
C) Non-Volatile memory

D) Outdated memory

152) ROM T&EaT T IITgCT 27
A) FATETEe THIEY
B) BT AT

C) ATF-AeieTge HHT
D) = == \F

153) Which memory represents the external storage

device?

A) Secondary Storage Device
B) Cache Memory

C) ROM

D) Primary Memory

153) FI Ht AAET T R 2a129 #7 wiaHiee st

&7

A) Tl =R Rargg
B) T TEEY

C) ROM
D) PIEC AR 1A
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154) Which one of the following is an example of a Web

Browser?

A) StarWorks
B) Opera

C) GoogleApps
D) Odilla

154) Faferiad § 7 9 97 UF 39 AT F1 ST 57

A) ETEH
B) T
C) T U=
D)ﬁﬂ%?ﬂ

1565) Which one of the following is an example of
Secondary storage device?

A) CD-ROM

B) Cache memory
C) ROM

D) RAM

155) Fraferfad & 9 F9 e 2o RaT1g9 T UF I8

e7?

A) CD-ROM

B) Cache memory
C) ROM

D) RAM

156) In MS Word, you can display the "Find and Replace"
Dialog box by pressing which of the following Function

156) MS T &, 31T =51 7 ¥ 3 weFerT FioraT il ST "hee

Keys?
A) F5
A) F5 B) CTRL + F5
B) CTRL +F5 C)CTRL +F4
C)CTRL +F4 D) F4
D) F4
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157) For the given map find the minimum product of sums.

ab 1] 01 11 10
cd 00 1 X X 0
01 1 0 1 0
11 1 1 1 X
10 0 0 1 0

A) (@ +b+c)(a +T +d)(b +a)
B) (a+Z+d)(a+d +c)@ +a
C)(a+b+d)a+d +c)(@ +b)
D) (@ +b+c)(a +E +d)@ +b)

157) faw st a=f=re & fore ~=aw T 1 S i ?

ab 00 01 11 10
cd 00 1 % % 0
01 1 0 1 0
11 1 1 1 X
10 0 0 1 0

A) (@ +b+c)(a+T +d)(& +a)
B)(a+d+d)(a+d +c)® +a
C)(a+b+d)a+d +c)a +b)
D) (a +&+c)a +T +d)@ +5b)

158) In MS-Excel, by default the text is aligned to

A) Center
B) Right
C) Justified
D) Left

158) MS-uae 7, Rwiee =7 F T 9 H3aT (3reTs) 2T

) ELY

159) Which of the following is a non-volatile computer
storage device containing magnetic disks or platters
rotating at high speed?

A) Pen Drive

B) Random Access Memory
C) Compact Disk

D) Hard Disk Drive

150) Ferefor & & F1 0 AT FogeT i
FeaTew & o o IR Y S e AT WiE S

g7
A)EF{Q &4

B) {7 T AT

C) Fiwie fTwn

-4

D) g€ fe=h grza
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160) 160)
($ BRI o-o-|@a = £ 4| @ | BRG]0 - &= A 42| @
1 2 3 4 1 2 3 4

Look at the image above. There are 4 icons marked 1,2,3 SU<Rh sHS &r <A1 290 1,2, 3 A 4 ¥ HRAa 4 smzwa 2

and 4. ¥ 717 BT T Fiey Fr 53
Now look at the column below :

Names Names
Shruthi Shruthi
Celina Celina
Anita Anita
Which icon should you click on for arranging the names as
given above? S T T A 568 0 AR AT 6 g ) Few
FIAT ATAU?
A) lcon Number 1 A) EFT FEAT 1
B) lcon Number 2 B) aweh F=AT 2
C) Icon Number 4 C) sz §=41 4
D) lcon Number 3 D) sfesd 9&47 3
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| Question Paper No: | 51357 10
| Answer Key

1 C 41 B 81 D 121 B

2 B 42 A 82 A 122 D

3 C 43 D 83 C 123 A

4 D 44 C 84 D 124 B

5 D 45 C 85 B 125 A

6 B 46 D 86 B 126 A

7 B 47 D 87 C 127 B

8 A 48 C 88 D 128 A

9 D 49 A 89 D 129 D
10 B 50 A 90 D 130 D
11 B 51 D 91 D 131 D
12 C 52 C 92 D 132 A
13 A 53 B 93 C 133 B
14 B 54 C 94 B 134 C
15 D 55 B 95 D 135 DA
16 C 56 A 9% C 136, B
17 C 57 A 97 A 137 A
18 C 58 D 98 C 138 D
19 C 59 B 99 C 139 D
20 C 60 D 100 € 140 C
21 D 61 A 100 D 141 A
22 B 62 B 102 B 142 C
23 D 63 C 103 D 143 A
24 D 64 A 104 A 144 B
25 B 65 B 105 B 145 C
26 B 66 "\ C 106 C 146 C
27 C 67 A 107 D 147 A
28 B 68 B 108 C 148 B
29 48 69 D 109 D 149 D
30 A 70 B 110 B 150 B
3 C 71 D 111 D 151 A
32 C 72 B 112 B 152 C
33 A 73 D 113 A 153 A
34 B 74 D 114 C 154 B
35 C 75 D 115 D 155 A
36 A 76 A 116 C 156 A
37 C 77 D 117 B 157 D
38 B 78 A 118 D 158 D
39 B 79 B 119 C 159 D
40 B 80 D 120 A 160 D
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